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Change 1
	Function name
	

	Reason for change
	1. Following the agreement of R5-173079, only one HARQ NACK should be excpected at step 6. The TTCN implementation still expects 4 HARQ NACKs to be received.
2. Incorrect loopback data is expected at step 9

	Summary of change
	1.  Removed the code to expect 4 HARQ  NACK for data transmitted at step 1
2. Corrected the data to be expected at step 4

	TTCN module
	MAC_eMTC.ttcn

	MCC160 Comment
	


Before change

	  function f_TC_7_1_3_4a_EUTRA() runs on EUTRA_PTC

  { /* 7.1.3.4a :Correct HARQ process handling / DCCH and DTCH/ Enhanced Coverage / CE Mode A */

    var integer j := 0;

    var integer v_HARQProcess := 8;

    var integer v_Nack_Count := 0;

    var integer v_RBStart := 0;

    var EUTRA_FDD_TDD_Mode_Type v_EUTRA_FDD_TDD_Mode;

    var Dl_Bandwidth_Type v_Dl_Bandwidth;

    var Combination_Type  v_Combination;

    var  PdcchDciFormat_Type v_PdcchDciFormat := dci_6_1A;

    var  PdcchResourceAllocation_Type v_PdcchResourceAllocation := ra_2_Localised;

    var  RepetitionNumber_Type v_RepetitionNumber :=1;

    timer t_Watchdog := 5.0;

    ///////////////////////////////////////////////////////////////////////////////////

    //      PREAMBLE

    //////////////////////////////////////////////////////////////////////////////////

    f_EUTRA_Init(c1);

    f_EUTRA_CellConfig_Def(eutra_Cell1);

    // creates cell and performs registration

    f_EUTRA_Preamble(eutra_Cell1, STATE2A_TESTLOOP_ModeA);

    f_EUTRA_LoopBackActivation_State4_TA_Infinity_LB_NoScaling();

    f_Delay(0.660); // 600 ms previous time alignment timer

    // Go to state 4

    f_EUTRA_StartULGrantTransmissionOnSR_Reception_No_PUCCH_Sync(eutra_Cell1, cs_TimingInfo_Now, cs_DciInfo_CcchDcchDtchUL_Def);

    // to configure SS to report reception of HARQ ACK or NACK

    f_SS_ConfigUL_HARQ_IndMode (eutra_Cell1, tsc_L1Mac_IndicationMode_Enable);

    ///////////////////////////////////////////////////////////////////////////////////

    //      Test Body

    //////////////////////////////////////////////////////////////////////////////////

    f_EUTRA_TestBody_Set(true, layer2);

    v_Dl_Bandwidth := f_EUTRA_CellInfo_GetDL_ChBandwidth(eutra_Cell1);

    v_Combination  := f_EUTRA_CellInfo_GetCombination(eutra_Cell1);

    v_EUTRA_FDD_TDD_Mode :=f_EUTRA_CellInfo_GetFDD_TDD (eutra_Cell1);

    if (v_EUTRA_FDD_TDD_Mode == TDD) {

      v_HARQProcess:= 9; // HARQ process 0..8 for TDD UL/DL default configuration 1

    }

    /* not possible for CE mode B as 1 NPRB not possible

       if (f_GetTestcaseAttrib_CEModeB(testcasename())) {

       v_HARQProcess:= 2; // HARQ process 0..1 for CE Mode B

       v_PdcchDciFormat := dci_6_1A;

       v_PdcchResourceAllocation := ra_Unspecified;

       v_RepetitionNumber:= 1;

       } */

    select (v_Dl_Bandwidth) {

      case (n25) {   // 5 Mhz

        v_RBStart:= 19;

      }

      case (n50) {  //10 Mhz

        v_RBStart := 37;

      }

      case (n100) { //20 MhZ

        v_RBStart := 86;

      }

    }

    for (j :=0; j < v_HARQProcess; j:= j+1) {

      v_Nack_Count :=0;

      //@siclog "Step 1-2" siclog@

      f_EUTRA_SS_CommonCellConfig(eutra_Cell1, cas_CcchDcchDtchDL_Config_REQ(eutra_Cell1,

                                                                             cs_TimingInfo_Now,

                                                                             cs_DciDLInfo_Explicit(cs_DciDlInfoExplicit(9,

                                                                                                                        v_PdcchDciFormat,

                                                                                                                        v_PdcchResourceAllocation,

                                                                                                                        2,

                                                                                                                        v_RBStart,

                                                                                                                        -,

                                                                                                                        v_RepetitionNumber)))); // Results in 4 repetitions as per 36.213 table 7.1.11-1

      f_SS_ConfigCRC_ErrorMode(eutra_Cell1,cs_DL_SCH_CRC_C_RNTI_Error(Error1AndNormal), cs_TimingInfo_Now);

      // Tb size =296b; 2B PDCP H + 2B RLC H + 1 B MAC Header =40 bits

      // PDCP SDU = 296 -40 = 256 b =32B

      DRB.send (cas_DRB_COMMON_REQ_PDCP_SDU(eutra_Cell1,

                                            tsc_RbId_DRB1,

                                            cs_TimingInfo_Now,

                                            cs_PDCP_SDUList_1 (crs_PDCP_SDU_32B),

                                            cs_HarqProcessAssignment_Specific(j)));

      t_Watchdog.start;

      //@siclog "Step 3" siclog@

      SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, ?, nack));

      v_Nack_Count := v_Nack_Count+1;

      f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 3");

      //@siclog "Step 4-5" siclog@

      // MAC PDU retransmision automatically performed by SS

      //@siclog "Step 6" siclog@

      alt {

        [] SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, ?, ack))

          {

            f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 6");

            t_Watchdog.stop;

          }

        [v_Nack_Count<4] SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, ?, nack))

          {

            v_Nack_Count := v_Nack_Count +1;

            repeat;

          }

        [] t_Watchdog.timeout

          {

            f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 6: UE did not send HARQ ACK");

          }

      }
      //@siclog "Step 7" siclog@

      //Taken care by SS

      //@siclog "Step 8" siclog@

      // Send UL Grant automatically taken care of

      t_Watchdog.start;

      DRB.receive (car_DRB_COMMON_IND_PDCP_SDUList (eutra_Cell1, tsc_RbId_DRB1, ?, cr_PDCP_SDUList_1(crs_PDCP_SDU_36B)));
      f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 7");

      t_Watchdog.stop;
….

….

}


After change

	  function f_TC_7_1_3_4a_EUTRA() runs on EUTRA_PTC

  { /* 7.1.3.4a :Correct HARQ process handling / DCCH and DTCH/ Enhanced Coverage / CE Mode A */

    var integer j := 0;

    var integer v_HARQProcess := 8;

    var integer v_Nack_Count := 0;

    var integer v_RBStart := 0;

    var EUTRA_FDD_TDD_Mode_Type v_EUTRA_FDD_TDD_Mode;

    var Dl_Bandwidth_Type v_Dl_Bandwidth;

    var Combination_Type  v_Combination;

    var  PdcchDciFormat_Type v_PdcchDciFormat := dci_6_1A;

    var  PdcchResourceAllocation_Type v_PdcchResourceAllocation := ra_2_Localised;

    var  RepetitionNumber_Type v_RepetitionNumber :=1;

    timer t_Watchdog := 5.0;

    ///////////////////////////////////////////////////////////////////////////////////

    //      PREAMBLE

    //////////////////////////////////////////////////////////////////////////////////

    f_EUTRA_Init(c1);

    f_EUTRA_CellConfig_Def(eutra_Cell1);

    // creates cell and performs registration

    f_EUTRA_Preamble(eutra_Cell1, STATE2A_TESTLOOP_ModeA);

    f_EUTRA_LoopBackActivation_State4_TA_Infinity_LB_NoScaling();

    f_Delay(0.660); // 600 ms previous time alignment timer

    // Go to state 4

    f_EUTRA_StartULGrantTransmissionOnSR_Reception_No_PUCCH_Sync(eutra_Cell1, cs_TimingInfo_Now, cs_DciInfo_CcchDcchDtchUL_Def);

    // to configure SS to report reception of HARQ ACK or NACK

    f_SS_ConfigUL_HARQ_IndMode (eutra_Cell1, tsc_L1Mac_IndicationMode_Enable);

    ///////////////////////////////////////////////////////////////////////////////////

    //      Test Body

    //////////////////////////////////////////////////////////////////////////////////

    f_EUTRA_TestBody_Set(true, layer2);

    v_Dl_Bandwidth := f_EUTRA_CellInfo_GetDL_ChBandwidth(eutra_Cell1);

    v_Combination  := f_EUTRA_CellInfo_GetCombination(eutra_Cell1);

    v_EUTRA_FDD_TDD_Mode :=f_EUTRA_CellInfo_GetFDD_TDD (eutra_Cell1);

    if (v_EUTRA_FDD_TDD_Mode == TDD) {

      v_HARQProcess:= 9; // HARQ process 0..8 for TDD UL/DL default configuration 1

    }

    /* not possible for CE mode B as 1 NPRB not possible

       if (f_GetTestcaseAttrib_CEModeB(testcasename())) {

       v_HARQProcess:= 2; // HARQ process 0..1 for CE Mode B

       v_PdcchDciFormat := dci_6_1A;

       v_PdcchResourceAllocation := ra_Unspecified;

       v_RepetitionNumber:= 1;

       } */

    select (v_Dl_Bandwidth) {

      case (n25) {   // 5 Mhz

        v_RBStart:= 19;

      }

      case (n50) {  //10 Mhz

        v_RBStart := 37;

      }

      case (n100) { //20 MhZ

        v_RBStart := 86;

      }

    }

    for (j :=0; j < v_HARQProcess; j:= j+1) {

      v_Nack_Count :=0;

      //@siclog "Step 1-2" siclog@

      f_EUTRA_SS_CommonCellConfig(eutra_Cell1, cas_CcchDcchDtchDL_Config_REQ(eutra_Cell1,

                                                                             cs_TimingInfo_Now,

                                                                             cs_DciDLInfo_Explicit(cs_DciDlInfoExplicit(9,

                                                                                                                        v_PdcchDciFormat,

                                                                                                                        v_PdcchResourceAllocation,

                                                                                                                        2,

                                                                                                                        v_RBStart,

                                                                                                                        -,

                                                                                                                        v_RepetitionNumber)))); // Results in 4 repetitions as per 36.213 table 7.1.11-1

      f_SS_ConfigCRC_ErrorMode(eutra_Cell1,cs_DL_SCH_CRC_C_RNTI_Error(Error1AndNormal), cs_TimingInfo_Now);

      // Tb size =296b; 2B PDCP H + 2B RLC H + 1 B MAC Header =40 bits

      // PDCP SDU = 296 -40 = 256 b =32B

      DRB.send (cas_DRB_COMMON_REQ_PDCP_SDU(eutra_Cell1,

                                            tsc_RbId_DRB1,

                                            cs_TimingInfo_Now,

                                            cs_PDCP_SDUList_1 (crs_PDCP_SDU_32B),

                                            cs_HarqProcessAssignment_Specific(j)));

      t_Watchdog.start;

      //@siclog "Step 3" siclog@

      SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, ?, nack));

      v_Nack_Count := v_Nack_Count+1;

      f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 3");

      //@siclog "Step 4-5" siclog@

      // MAC PDU retransmision automatically performed by SS

      //@siclog "Step 6" siclog@

      SYSIND.receive(car_UL_HARQ_IND (eutra_Cell1, ?, ack));

      f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 6: HARQ ACK received");

      t_Watchdog.stop;
      //@siclog "Step 7" siclog@

      //Taken care by SS

      //@siclog "Step 8" siclog@

      // Send UL Grant automatically taken care of

      t_Watchdog.start;

      DRB.receive (car_DRB_COMMON_IND_PDCP_SDUList (eutra_Cell1, tsc_RbId_DRB1, ?, cr_PDCP_SDUList_1(crs_PDCP_SDU_32B)));
      f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 7");

      t_Watchdog.stop;
….

….

}


